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Please make sure that the printed in this question paper are 15 in number
and it contains 30 questions.

o fRdl 9T T IR YT Tl F TgA 3HHT AT foI@=1r gram

Before beginning to answer a question, its serial number must be written.
o O I qRAH ¥ @ T /T T B |

Don’t leave blank page/pages in your answer book.

o I qFder & IfaRTd H15 377 Me 78 & AN | 3T HaIhaTaN
& O 3R 1 F Fie |

Except answer -book, no extra sheet will be given. Write to the point and
do not strike the written answer.

o &l IUAT T AR YA UF W 3T ford |
Candidates must write their roll number on the question paper.

o FHULT U & 3 A Y4 Ig AR Y o o geaAuT qur a T g,
qeT & IWd 38 TaU F RS o a1 ThHHR AGT AT SCaT |
Before answering the questions, ensure that you have been supplied the

correct and complete question paper, no claim in this regard, will be
entertained after examination.



General Instruction:

I. All questions are compulsory.

II. Marks for each question are indicated against it.

III. Questions in Part-A are objective type carrying one mark each.

IV. Questions in Part-B are very short answer type carrying two marks
each. Answer to each question should not exceed 30 words.

V. Questions in Part-C are short answer type carrying three marks each.
Answer to each question should not exceed 50 words.

VI. Questions in Part-D are essay type carrying five marks each. Answer to

each

question should not exceed 150 words.
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Part - A

1. 9ef& 7 cfasRs eurd s gedrad fhrar

(A) TIRRAT & (B) FTormis o
(C) g&&A o (D) frarst &
Who proposed two factor theory of intelligence?
(A) Spearman (B) Guilford
(C) Thurstun (D) Piaget

2. giFdca T e 37T ereg, RIS & foram = g



(A) % (B) wT
(C) AR (D) =

Literal meaning of personality word was

.............. persona.
(A)French (B) Russian
(C) American (D) Latin
3. AMRE o fhg A1 YR T Afdded AT 872
A TgY- T B. Trgu-sT
C. <139 @1 D.23g 31
Which type of personality has Morris suggested?
(A) Type-A (B)Type-B
(C) Type-C (D) Type-D
4. TATT oo EaRT 3cdesT BT &
(A) reTarfrehal (B) &\
(C) smeg gfaderh (D) 3WRad H T FIg A8
Tension is produced by.....................
(A)  Genetic (B) Disease

(C) external stressors (D) none of the above
5. 31s. T, &Y. & genrereT fhash ganrT fohar arar?

(A) Ssof, TH. 3. (B) T. 1. .
(C) =rar (D) &1 & FIg ALt
Who published 1.C.D.?
(A)W. H O. (B) A. PA.
(C) NASA (D) None of these

6. 3carush Tafehcar @1 wlaaest feast fhar?
UNGEGER IR (B) @Tel AT
(C draera (D faerex thehel
Who propounded blind therapy?
(A) Sigmund Freud (B) Carl Rogers

(C) Pavlov (D) Victor Frankle

from



7. GEIE & IS AW & Uqeg TH A oA ... ree Fegeed @ g9
gl

The English word stress is derived from ...................... word
‘strictus’. 1
8. Toar forelt STET 38T & TTETT FXA . FETdT gl

Perceiving without any external stimulus is called «--=eeoeeeeeeeeeee :

perception. 1
9. HelllcH®, HEAcHAS TIGERWS TCH H HHT #H AHAGA &

........................ geeh d ST ST gl

Cognitive, affective and behavioural components are briefly known as

........................... Components Of attitUde. 1
10.3m$ &1 &1 . & quT &9 faf@u|
Write the full form of I.C. D 1

1.5 #T <@l & AT THa gU T fohdeT 3areor &7
Gathering to watch a cricket match is an example of*««-==--=eeeeeeee
? 1

12.1599 deg A GFd 9= qde @ Sl § Feelldl &

People who join a group based on their own preferences are called
..................... . 1

A ST a1T geat (13-15) # ar wueT 3fAwysT (A) IR aF (R) & & A
feu av 81 Fyat o qfer 3R 3ugEd e giAv.

Two statements are given in questions (13-15) below as Assertion (A) and
Reasoning(R). Read the statements and choose the appropriate option

13.31M AR (A) ‘3T THE @I F GHE A 500 Al gl AR e qg
A HHE AT ST T g



SROT (R):- 3(d: HHg H HGEA & T gHANT s T 3UANT fohdl FATT
¢ SIafeh 'd ereg 39T fRar &1 39T

A. A 3R R g&l @ §, R A & T@@r
TISEIHIOT &

B. A 3R R gl & § afdhed R A & &&Y
FISEIHIOT el & |

C.ATTE, R3ITTE |

D.A3ETE, RATE |

Assertion (A) 'internal group indicates the group itself, and the outer group
indicates the external group.
Reasoning (R): - Hence, the word 'we' is used for the members of the

group, while the word ‘they ‘is used for the members of the out-group.

A. Both A and R true, and R is the correct explanations of A

B. Both A Both A and R true, but R is not the correct
explanations of A
C. Aistrue, R is false

D. Ais false, R is true 1

14. 37T RFUT (A):-URd Tk oUeid WG T ATl &1 &7 gl a8 Tdh
SN oI ¥ 31T JH1fad glem sov & T Fhel = A
HRUT (R):- AT T faRa@=iadr AT aRac= @ Feidd w8 el

A. AR RcCHE T & R A &7 T8 TISEHI0T ¢l
B. A3R R Al g & dfehad R A &I TET TUSEGUT AT &
C.ATTE R3TITE |

D.A3GT & RET &



Assertion (A):-Rohit is planning to buy a laptop. He will be more
impressed by a computer engineer than a school child.
Reason(R):- Source credibility does not affect attitude change.

A. Both A and R true, and R is the

correct explanations of A

B. Both A Both A and R true, but R is
not the correct explanations of A
C. A is true, R is false

D. A is false, R is true 1

15. IfFFYA (A):-  3carygs RAfehcar &1 3T § 3cAT F 3TAR

FROT  (R):- 3oihel HaOe Yafod RAfecar daecaAs <IdgR
faferear g

(A) A 3R R gl IcT §, 3R R A &I T&I TISEHIT ¢l
(B) A 3R R &t @ &, afheT 3R T &7 Ty TUsAeoT A8t gl
(C) A 8T &, R 319 8l

(D) A 3T g, R @ ¢

Two statements are given in the question below as Assertion (A)
and Reasoning (R). Read the statements and choose the appropriate
option.

Assertion (A): - logotherapy means will treatment of soul.

Reasoning (R): - Nowadays the most popular therapy is cognitive
behavioural therapy.

Options:

A. Both A and R are true, and R is the correct
explanation of A.



B. Both A and R are true, but R is not the correct
explanation of A.
C. Ais true, R is false

D. A s false, R is true 1

Part- B
16. 3cA & aRea &)

Define self 2
17. Slefds FgAdr & 39 F1 TASA 87

What do you understand by intellectual deficiency? 2

18. JEH &l qRevT HY

3dar

ATATISTeh GaTd T Ga1d & JehR &l T A @l §9 & saredr w3

Define Eustress.
OR

Write the full name of the type of pressure and explain it in the form of
social pressure. 2

19. 31 tq@ A -TR &1 Q@ A fo@)

Write the full name of the DSM-TR 2
20. wEefeifd 3R deafsfcd # 3R S|
Explain the difference between sympathy and empathy. 2

21. GHE YdIOT @ 39 FT FASA &7
372rar
& F41 8

What do you understand by group polarization?
OR

What is the team? 2



Part -C

22. T YR HolollcHedl o1 ¥ Heafd §7?

How is creativity related to intelligence?
23. 3TeMic & a9 39NTA &1 quid F|

Describe Allport's trait approach?
24. ST I ATHAT el o ATHeeT 3UTAT T JoTl FIfAT|

3dar

ST, U wH. Algd & g HifSv]
Describe various ways to cope with stress.
OR
Explain GAS model.
25. HAAIFATAS TAHRT 1 Fafierior &t famam SiraT 872
Why are psychological disorders classified?
26. FARGRRCE 1 P T AT 8 F avieT DT

Described the nature and subject area of psychotherapy

27. AT S g™ HfST va gHS Teant H fadwer HifT]
3ar
HAGIA AT &l JHTTIT F aTed FleA-hleT § HRb §7?

Define attitude and discuss its components.
OR

What are the factors that influence attitude formation?



Part -D

28. TaTBesT ¥ T FAT FHSIA 82 3TP [AffAeeT FOI HI qUT HY|
3yar
Ak ged & Adel I GEIAIET F 31T FAT FASA 872

What do you understand by dissociation? Describe its different forms
OR

Describe negative and psychomotor symptoms of schizophrenia. 5
29. WaTdT deheileh AT gl 87 fohedl ol WaTdT deheilenl ol GuTeT &Y |
3AYar
hiddcd & HiTaaraKal 3UEH $H JHqE Fideicd #r §? AcAde™ & At
ST AT dread o

What are projective techniques? Describe any two projective techniques.
OR
What is the main proposition of the humanistic approach to personality?

What did Maslow mean by self-actualization? 5
30. ISR EaRT IS IS a‘gg‘dﬁ $I STET FITAAT|
3AYgar
95 & U HISAT HT qUl ST

Explain multiple intelligences as described by Gardner.
OR

Describe the PASS model of intelligence. 5



